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Experiment of Transformer

19.1 OO

00001000 (00o0)o 2000 (0D000)00000000oooooOoooood
1Dboobogobudgo1l1gggob 20b0b00boboouoboboooooboDb

19.2 00

019100000000000 S$m*)000000¢m)0000000000 n;0n,00
gobobooobouogbobbo

L T

! !

! !
T

\’@) ny y— \:—/ D)

1 N
— _ —
! ; ‘ T

L,J\,S,‘,,,,J

N

0 19.1: 00000000
goooboooouoood

lL.gboboobobbbboobon
2. 0000bbpbO00000ooobbbbooggd
.000u0oogd

gbobobbbobbboobuobbooouuobbobuodopdgbbbooooubon

goooo
O0o00ooooooooo0oo(o0)ooogogooooooog (boo)oo
go200000b0b01o00bbbuod LZwooobboooboboooboobon

87



n nS 5
Li=n—=—n7 OH 19.1
LS g e = (H) (19.1)
00000bO00o0l100obo0o0o0oooovooooooooooo woooao
o= — O(A) (19.2)
0-—ij1 v 2
D00 ooooooooooood
nly S npuS VvV V .
= = Iy = = (Wt 19.3
(/S ¢ 0 ¢ jwlp  jony (Wh) (19:3)
0000000000 0 10000000 On;, 00
d ) . :
Ei=—n®=—jun® OV) (19.4)

dt
goobouooood
gobbboobobooboobboboob20bbbodgdgegugd

EQI—ijQ(I) D(\T) (195)
g2000bboodbbbEeE, 0 000000

El 11
EQ o

gogoboogd

g 192000000000

A0 EO00O00O0OCOO0O0 B:000O0O0OO C.000
Vi:goboooooooo  Ve:oboobbobooo g oo

OoO0o0booobOOoobooobobobobDA8SODOOOoDO

88



19.3 OO

g19200000400o0

19.3.1 O0O0OO0OO0Oooooogd

0vl1oobs/oobobooobooobooo0ooobbbobooobooobDooooDo
1o0oo0b v,gobgobobolibooob nbob20000 Ve, OOooooo

L2000 s50005000010000000000000000bOObDOOObOODbDDbDOOO
.0(196) 0000000000 EFK,OODODOO

19.3.2 O0O0O0O0O0OO0OOO0On

.omvi1ooov/oooboooboboboobooooboooooog
2. 10000 Vv,00bo0ooboboibboob Lb20000 Ve, OOOOOO

19.4 OO

19.4.1 0OO0OO0OO0O0O0OO0OO0OOO

0000200000000 OO00)
00000 f O0O(Hsz)

O

10000 V(V)000D0 020000 V,(V)000000000:00 n,=50(0)0000
00 ny=50(0)0000:00 n,=500(0)0000:00 n,=500(0)0000:00 ny=1000(0)

100 200
00 Vy(V) |00 (A) | 0000 Vy(V) [ 0000 E(V)|000 (0)
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0

O000000:00 n3=10000)0 20000 Vo(V)ODOOO0OODDOOOOOO

10000 vVy(V)OooDoODoO0o0o0ooo0o0ooooO0D0oooooooooOoOooooOoOO

O@ooO0)oooooooood

19.4.2 0O0O0O0OOOOOOOO

0000200000000 003)
00000 f OO(Hz)

89




100 200
00 V(V) [ OO0 L(A) | 0O Vy(V)
0 0 0
0 0 0
0 0 0
0

10000 V(V)000D0 020000 V,(V)000000000:00 n,=50(0)0000:
00 ny=50(0)0000:00 n,=500(0)0000:00 ny=500(0)0000:00 ny=1000(0)
000000:00 ny=1000(0)0 20000 V,(V)0OO00000000

19.5 OO0

1.000000000 (196) 0000000000000 0O0O00O0OO0O0O0O0O (196000
googugobuobogogobobooboooobod
2.0000b000oaoboo

.00000000000000





